
1^ g. Classifiche

Girone A Girone A Pu G V N P Gf Gs DR Fp
Pippa Utd - EuroMic2020 = 4 - 3 84,5 81,0 1 Pippa Utd 9 3 3 0 0 10 4 6 466,5
Eurovilla - Team Vaticano = 2 - 1 77,5 66,5 2 Eurovilla 4 3 1 1 1 5 5 0 437,5
Girone B 3 Team Vaticano 3 3 1 0 2 4 7 -3 435,0
Black Knights - Pro Secco = 3 - 1 79,5 71,0 4 EuroMic2020 1 3 0 1 2 6 9 -3 469,0
Arturo's - riposo = -
Girone C Girone B Pu G V N P Gf Gs DR Fp
Solosamp - Sbagna FC = 1 - 4 69,0 84,5 1 Black Knights 6 2 2 0 0 7 4 3 462,0
Eurotango BRR - Furie Nerazzurre = 3 - 3 80,5 78,0 2 Pro Secco 3 2 1 0 1 5 4 1 479,5
Girone D 3 Arturo's 0 2 0 0 2 4 8 -4 457,0
Larmata - EuroVAX FC = 0 - 3 65,0 80,0
FantaFC - riposo = - Girone C Pu G V N P Gf Gs DR Fp

1 Sbagna FC 7 3 2 1 0 9 4 5 444,5
2^ g. 2 Furie Nerazzurre 5 3 1 2 0 7 6 1 441,0

3 Eurotango BRR 2 3 0 2 1 5 7 -2 456,5
Girone A 3 Solosamp 1 3 0 1 2 3 7 -4 378,5
Pippa Utd - Eurovilla = 2 - 1 75,5 71,5
EuroMic2020 - Team Vaticano = 1 - 3 69,0 80,5 Girone D Pu G V N P Gf Gs DR Fp
Girone B 1 EuroVAX FC 6 2 2 0 0 6 2 4 449,0
Pro Secco - Arturo's = 4 - 1 85,0 66,0 2 FantaFC 1 2 0 1 1 4 5 -1 450,5
Black Knights - riposo = 3 Larmata 1 2 0 1 1 2 5 -3 432,5
Girone C
Solosamp - Eurotango BRR = 0 - 0 62,0 64,5
Sbagna FC - Furie Nerazzurre = 1 - 1 70,0 71,0
Girone D
EuroVAX FC - FantaFC = 3 - 2 78,0 75,0
Larmata - riposo = -

3^ g.

Girone A
Pippa Utd - Team Vaticano = 4 - 0 89,0 63,0
Eurovilla - EuroMic2020 = 2 - 2 75,0 73,0
Girone B
Arturo's - Black Knights = 3 - 4 83,5 86,5
Pro Secco - riposo =
Girone C
Solosamp - Furie Nerazzurre = 2 - 3 75,5 81,0
Eurotango BRR - Sbagna FC = 2 - 4 76,5 85,5
Girone D
FantaFC - Larmata = 2 - 2 71,5 72,0
EuroVAX FC - riposo = -

Quarti di Finale
Pippa Utd - Pro Secco = 1 - 4 67,0 86,5
Sbagna FC - FantaFC = 0 - 1 61,5 67,0
Black Knights - Eurovilla = 3 - 2 66,0 65,5 dcr (1-1/1-1) (suppl.: 17 - 14)
EuroVAX FC - Furie Nerazzurre = 1 - 0 65,0 65,5 dts (0-0) (suppl.: 22,5 - 18,5)

Semifinali
Pro Secco - FantaFC = 2 - 4 76,0 84,0
Black Knights - EuroVAX FC = 2 - 3 76,5 82,0

Finale
FantaFC - EuroVAX FC = 2 - 1 75,5 69,5


